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PART - | (PHYSICS)
- | @fde fase)

1. A sure test of electrification is :
(A) Attraction (B) Repulsion (C) Friction (D) Induction
i ft axg & faeRfioxr &1 gfRea aRew 2
(A) ATHYT (B) ufcrayor (C) =ur (MEIELSIEE
2. Heating element of electric iron is made up of :
(A) Nichrome (B) Tungsten (C) Constantan (D) None of these
faga o9 # ™ 81 arell uRd b9 @ | I+ 8% Bl & 7
(A) FT3HTH (B) ST™IeH (C) BI=aceH (D) 37 A BIg TR
3. Electron was discovered by :
(A) J.J. Thomson (B) Chadwick (C) E. Goldstein (D) Rutherfod
goldeTE B @I o @ ot ?
(A) 9. . At (B) J=dI® (C) $ oS (D) T&XBIS
4, The unit of resistivity is:
(A) Ohm (B) Ohm / meter (C) Ohm x meter (D) None of these
TRRITBT B SHIE ®
(A) 3 (B) 319 / #{iex (C) M x Hiex (D) 3 A BI3 Al
5. An electric generator converts
(A) Electric, energy in to mechanical energy (B) Mechanical energy into thermal energy
(C) Mechanical energy into electric energy (D) Electric energy into chemical energy
faga s aRafia w=ar 22
(A) faga ot @ Iifye Sot § (B) farga Soit @I A St 3
(C) a3 Sott & faga Hort | (D) fa=[d Sl &1 ER™MS Sl ©
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10.

What is the unit of electric potential difference ?
(A) Volt (B) Coulomb (C) Volt Joule (D) Watt
favaiaR f $arg ®

(A) AT (B) o= (C) dree [ (D) dfe

>

Magnetic field intensity is :

(A) Scalar (B) Vector

(C) Some times scalar sometimes vector (D) Nothing can be said

RO &F DI Al ©

(A) srfeer (B) wfewr

(C) B HHY 3ffaw 9 Al (D) BB BT &I S Febell

Lez’s law is a consequence of the law of conservation of:

(A) Energy (B) Momentum (C) Angular momentum (D) Charge and mass
o1 &1 9 59 R & Sxer & 99 W) e @

(A) St (B) T (C) ®IviT | (D) 3T T TeIHH

Most of the power stations produces :

(A) Direct current (B) Electric power (C) Potential difference (D) Alternating current
P fagd o= SO HRd B —

(A) e g (B) faga =fda (C) fawar=r (ERIEEIEIN

Who discovered the relationship between electricity and magnetism :

(A) Faraday (B) Newton (C) Maxwell (D) None of these
gaded 9 g # d9y e wenfia fean on

(A) BTS (B) =geA (C) waadd (D) 74 | B3 T2
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PART - Il (CHEMISTRY)
q- 1l (R =)

11.

12.

13.

14.

The decomposition of KCIOs to KCI and Oz on heating is an example of :
(A) Intermolecular redox change (B) Intramolecular redox change
(C) Disproportionation or auto redox (D) None of these

T B TR KCIO3 &1 KCIdam O2 H 3[98ed &1 Th IaTevvl § :

(A) oT=T: Tfoads SUTIEAA (B) sr=<Rivifdss SuMg=d ulRadd

(C) SRTATIC AT T SUTIaI (D) 7% | P13 &I

Hydrolysis of water is which type of following reactions?

(A) Endothermic (B) Decomposition (C) Both (A) and (B) (D) Combination
Y BT BTSSIfrrd fhd TR &1 ufifshareti o1 JeR 27
(A) AT (B) 3mugeH (C) (A) 3R (B) arHl (D) HISH

Arrange the following elements in order of their increasing ionization energies O, S, Se, Te, Po :
0, S, Se, Te, Po f=1 Al &1 9l SMINHRUT Holl & HH | FIRAA N

(A) Se, Te, S, Po, O (B) O, S, Se, Te, Po (C) Po, Te, Se, S, O (D) Te, O, S, Po, Se
Electron affinities of O, S, F and Cl are in the order :
O, S, F3iR Cl @& & Soideid Ffedl &1 %A & :

(A)O<S<F<Cl (B)S<O<Cl<F (C)S<Cl<O<F (D) S<O<F<Cl
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15.

16.

17.

18.

When Sodium carbonate (Na2COs) reacts with Silica (SiO2) given ...........
(A) Soda Glass (B) Water glass (C) Crook’s glass (D) Pyrex glass
ST AIfsTd dEHe (NaxCOs) Riferdt (SiO2) & At ufafhar &=ar 8 ...

(A) HreT T (B) STe1 @ (C) T &1 oI (D) YRR T
In order to decreases the role of setting of Cement, which compound is mixed in it?
(A) Ca(OH)2 (Slaked lime) (B) CaCOs(Calcium Carbonate)

(C) CaS0s4 . 2H20 (Gypsum) (D) AlzO3 (Alumina)
AHe B STHA B a1 B v w1 B Ay, 38 i e Aemrn S 87

(A) Ca(OH)2 (g=m g3 =) (B) CaCOs (e @wrai+c)
(C) CaSO0s . 2H20 (fr=eH) (D) AlsOs (Tegfa=)

In saponification process, the fatty acid present in the oils is neutralized by adding

(A) Sodium hydroxide (B) Aluminum hydroxide

(C) Calcium hydroxide (D) Magnesium hydroxide
AIgAIDROl Ufshar 3, dell § Aioe Bl RIS B w1 AR Seri foar e 8
(A) AT EEgRIZS (B) TgfAfIE EggIRITSS

(C) dfezr™ EsgIRISS (D) HIRRM TRgIaaRs

Diabetic patients sometimes use this artificial sweetener
(A) Glycerol (B) Saccharin (C) Brown Sugar (D) Molasses
AYHE & AN -0 39 B e &1 SuET Rd 8

(A) Fer=Ra (B) AR+ (C) 918 YR (D) TS
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19.

20.

Match the following

Column-| Column-ll
(a) strongest reducing agent in aqueous solution I Thalium
(b) Shows inert pair effect Il Caesium
(c) Forms peroxide on heating with excess of oxygen M. Lithium
(d) Used in photo cells V. Sodium
fr=foRaa &1 e

PicH-| Pie-Il
(a) STel Hd H Ha AfIemTel AT . TferE
(b) FfSpa SIET gvra fa=aman 2 | Il. A
(c) TRASTH | AT T HRA W WRIFATSS 94T 2 M. forform
(d) BT PRI F g V. e
(A)a- 1V, b-ll, c-1, d-llI (B) a- I, b-l, c-1V, d-l
(C) a-Ill, b-l, c-1, d-1IV (D) a - Il, b-1V, c-I, d-lll

About (i) H202, (ii) BaO:z2 (iii) CO2 the correct statement is :

(A) Both (i) and (ii) are peroxides, but not (iii) (B) All are peroxides

(C) (i) is peroxide, but not (ii) and (iii) (D) (i) and (iii) are peroxides, but (ii) not
/1 @ IR # (i) H202, (i) BaOz2 (jii) CO2 W& HI+ ® :

(A) S (i) 3R (i) WRreargS €, fdd (i) 781 (B) 9 WRIa8S &
(C) (i) Wraarss 8, afdb (ii) 3R (iii) =& (D) (i) 3R (iii) WrAgs 8, Afd (i) &
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PART - Il (BIOLOGY)
AL Il Gha fasm)

21.

22,

23.

24.

Functional unit of kidney is

(A) Nephron (B) Nephritis
T B PRAIHD SHIS ©
(A) T (B) wrsfes

The essential organs in a flower are :

(A) the seed and stamen
(C) the stamen and pistil
TH W H AERID S ¢
(A) 95T 3R g&F DR

(C) g B IR qo AT

(C) Neuron (D) Loop of Henle

(C) =i (D) &7el & U

(B) the petal and pistil
(D) the sepal and petal

(B) & 3R g® A
(D) 918Sd iR T

The embryo sac of a typical dicot at the time of fertilization is -

(A) 8 celled (B) 7 celled

(C) 6 celled (D) 5 celled

fee & 999 TP 33 Rhe o w1 SIfdaT & —

(A) 8 AT (B) 7 SeTs

Emasculation is achieved by
(A) removal of stigma

(C) removal of sepal & petals
TEABROT B o ST ®

(A) aiiierr &1 gem™

(C) wad 3R ugfedl &1 g

(C) 6 Hers (D) 5 TS

(B) removal of anthers
(D) removal of gynoecium

(B) T ECHI/WRNTHIY Bl B
(D) ST &1 g™
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25.

26.

27.

28.

29.

30.

Double fertilization is a unique feature of :

(A) Bryophytes (B) Angiosperm (C) Algae (D) Gymnosperm
fa—foras fraa oY fadivar 2

(A) STATHTST (B) 3rgadrsit (C) 3ara (D) SrrgadTSit
The vegetative reproduction in Bryophyllum take place through which organ?

(A) Root (B) Stem (C) Leaf (D) Seed
faafher # govafa gore {69 o & wregw & gar 27

(A) e (B) &7 (C) w=i (D) ¥t

Which of the following is a plant hormone?

(A) Insulin (B) Thyroxin (C) Cytokinin (D) Oestrogen
TH ¥ DI A1 YISy gHIA 7 ?

(A) sgfer (B) amRifdA (C) wrselfaf= (D) TEgIoH

The spinal cord originates from where?

(A) Cerebrum (B) Cerebellum

(C) Medulla oblongata (D) Pones

AHES DI BEl bol A [berdl 87

(A) FRTsH (B) SR9eH

(C) HSSI/Hgel 3TeAINIC] (D)

Blood Pressure is measured with an instrument called —

(A) Thermometer (B) Stethoscope

(C) Sphygmomanometer (D) Clinical Thermometer

IHATT B YHh UGV & 1T AT Srell & O HET STt 8 —

(A) AR (B) UDHIT

(C) YarreTaHTdY (D) “e1fe ermiHieR

The functional junction between two neurons is called

(A) synapse (B) axon (C) dendrites (D) none of these
T RFE D F BRATHD GaRE BT ol B

(A) Rred /araiders (B) Vi /31eiag (C) SvsI8e (D) 3TH & &g W T8
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PART - IV (GENERAL AWARENESS)
AR IV (GE 9)

31.

32

33.

34.

35.

Which metal is often termed as back-bone of modern civilization ?

(A) Copper (B) Iron (C) Bauxite (D) Zinc
DI Al 8T DI AR YD TR B UG B 8Ll D DY H ST SIdl &7
(A) PR (B) IR (C) dierarse (D) i

Khetri mines in Rajasthan are famous for the mining of :

(A) Copper (B) Iron (C) Bauxite (D) Zinc
IORAE H TSI @ B WA b foy uRig @

(A) DR (B) 3mRA (C) diarse (D) i
The most abundantly available fossil fuel is :

(A) Petroleum (B) Natural Gas (C) Coal (D) Iron
AT YR AF H YA SIared 589 B

(A) Ugifera™ (B) wfaw I (C) ®raen (D) 3R

On the basis of raw material used, Iron & steel industry falls under :

(A) Heavy Industry (B) Light Industry (C) Both (A) and (B) (D) None of these
Fod Al D WA B MR TR, IS IR ST AN IR A @ -
(A) 911 S (B) =Isc g%t (C) (A) e (B) & (D) &7 & ®Ig &l

Which of the following cities is known for silk weaving industry ?

(A) Mumbai (B) Kanpur (C) Lucknow (D) Kancheepuram
feforRad | &1 @19 |1 ER T A8 e & ol ST Sf1el 87
(A) 993 (B) SIYR (C) aETs (D) Beng=H
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36.

37.

38.

39.

The first Secretary General of the United Nations was :

(A) Boutros Boutros-Ghali (B) Trygve Lie
(C) Kofi A. Annan (D) Ban-Ki-Moon
HYH AE & Usl HeMg I

(A) I -t (B) g <t
(C) DIHI A 3T (D) §T—b1—H

A party that secures at least 6 per cent of the total votes in an election to the Legislative Assembly of a State
and wins at least two seats is recognized as a :

(A) National party (B) State party (C) Political party (D) No party

T ISl b 59 H fauE w1 & fY g H gl el 9 W d B9 6 TR gRIET Bl B SR 39 9
% a1 AT i), S9 31 HEd © 7

(A) I T (B) Xy it (C) oD Tt (D) B Tt 7l

The concept is used to refer to a system that values men more and gives them power over women :
(A) Patriarchy (B) Monarchy (C) Polygamy (D) Dyarchy
ST BT SUART S JUITe BT FERid HRl & forg fhar S 8 o goui @1 ifdid Agw <l & 3R S

Afgesli IR wfth <l 8 ¢

(A) fagern (B) JToTRITE (C) Igqst (D) SRR
In India, Seats are reserved for women in :

(A) Lok Sabha (B) State legislative assemblies

(C) Cabinets (D) Panchayati raj bodies

IR ¥, i Alensii & forg omRfad 2

(A W (B) Iy faEm=ra™g

(C) Bfame (DREECIRSREEZRI
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40.

41.

42,

43.

44,

45.

The democratic countries that face the “challenge of expansion” are :

(A) Norway and Germany (B) Spain and Portugal
(C) India and U.S.A. (D) England and Russia
IR @1 AR & WA SR alel ADhaisd o9 B

(A) Ard 3R SR (B) ¥ 3R game (C) MRd 3R AT, (D) §7eie 3R &9

When did French troops land in Vietnam ?

(A) In 1858 (B) In 1868 (C) In 1848 (D) In 1842
e v 3 fageem™ &1 g R B SfFel 7 Hew @ o ?
(A) 1858 # (B) 1868 # (C) 1848 % (D) 1842 9

When did Japan occupy Vietnam ?

(A) 1931 (B) 1929 (C) 1940 (D) 1950
S 9 faaae ™ R wel ba fhar?
(A) 1931 # (B) 1929 % (C) 1940 % (D) 1950 ¥

When was the Tonkin free school started ?

(A) 1917 (B) 1907 (C) 1887 (D) 1897
S W1 el P FH AT AT?
(A)1917 % (B) 1907 # (C) 1887 # (D) 1897 #

The first Jute mill was established in India in :

(A) In 1865 (B) In 1855 (C) In 1862 (D) In 1827

YRA @ Teel S At o ad ¥ venfia & T ?

(A) 1865 # (B) 1855 # (C) 1862 # (D) 1827 #

Who invented the cotton mill ?

(A) John Arkwright (B) Richard Arkwright ~ (C) Thomas Arkwright (D) Roul Arkwright
U A &1 nfaseR fae fhar?

(A) S 3maRTSe (B) R=rs marse (C) o JrawTse (D) I3 IMARTZE

Space for Rough Work / (= & & g wIM)
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PART - V (MATHEMATICS)
- V (1<)

46.

47.

48.

49.

50.

Find the other zero of the polynomial x3 + 3x2 — 2x — 6, if two of its zeroes are —2 and /2 .

(A)-3 (B)3 (©)2 (D) None of these
TG X2 + 3x2 — 2x — 6, BT TANT LA Wiol, AR S Q1 T & 2 3R 2.
(A) -3 (B)3 €)2 (D) 3 & PIS &I

If x + 1 = 3, then the value of x® + lﬁis:
X X

aﬁ'x+l=3,<‘-ﬁ x6+i6 BT AE B :
X

X

(A) 927 (B) 114 (C) 364 (D) 322
On solving 2 3 =1, 40 + 2 =5 we get:

X+y X-Y X+y X-=Yy
(A)x=8,y=6 (B)x=4,y=6 C)x=6,y=4 (D) None of these
A B R, 2 3 =, 40 . 2 _5g fremr

X+y X-Y X+y X-=Y
(A)x=8,y=6 (B)x=4,y=6 (C)x=6,y=4 (D) 39 | I3 TEI

If the system of equations px + qy = 8, 3x — qy = 38 has the solution (x, y) = (2, —4), then p is equal to :
THHRN & BT px +qy =8,3x—qy =38 FT A (X, y) = (2, —4), &, A p e &

(A) 20 (B) 8 (C) 40 (D) 21.5

The difference between two numbers is 5 and difference in their squares 65. The larger number is :

3 ARl & g &1 iR 5 8 R SAd 9l &1 oW 65 B | 991 WEAl T ®© -

(A)9 (B) 10 (C) 11 (D) 12
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51.

52.

53.

54,

55.

The sum of the squares of two consecutive positive integers is 545. Find the sum of these integers.

AR 1 GHRIAS YUl & a0 ST AT 545 2| 9 YOId] BT A BIfTg
(A) 33 (B) 34 (C) 35 (D) 36

Find the sum of the cubes of the roots of the equation 3y? — 14y + 8 =0

FAHIHROI3y2 — 14y + 8 =0 Hal & &1 B AN AT DY

1728 1736 1730 1732
> (B) - ©€) - D) -

(A)
27 27 27 27

n+1

The sum of n terms of two A.Ps. Are in ratio a7 Find the ratio of their 11t terms.
n+

e fh=gl 2 FarR AR $1 n Y&l B AU A5 g1 398 11 dUgi &1 37U S Doy ?

4n + 27
4 2 1 4
A)— B) — C) — D) —
( )3 (B) 3 (©) 3 (D) 7
The sides of a right angled triangle are in A.P. The ratio of sides is :
FADHIV 3T & fFIR AP.H 2| Uell &1 31U &
(A)1:2:3 (B)2:3:4 (C)3:4:5 (D)5:8:3

Find the common difference of an A.P. whose first term is 100 and the sum of whose first six terms is five
times the sum of the next six terms.

I FHIR AN BT FHE AR S PINTY RSTdT ggar IR 100 8 3R fT9d! ugal ©: Ucl &1 AT 31T
BT Y&l & AN BT U= YO B |

(A) 10 (B) -10 (C)5 (D) -5
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56.

57.

58.

59.

If CA=15cm, DB =9 cm, AD bisects ZA, ZABC = 90°, then AB has length :
afd CA=15cm, DB =9 cm 1 AD, ZA &1 FHIGHIITT &xall © a1 ZABC = 90°, A1 AB &1 &fdTs 8rl —

C

(A) 32 (B) 18 (C)7

(D) 24

If the points (k, 2k), (3k, 3k) and (3, 1) are collinear, then the value of k is :

afe fdg (k, 2k), (3k, 3k) T (3, 1) OXE 8, @1 k & A &I ©

7 2 -2
A) — B) = C) —
(A) 9 (B) 3 (©) 3
2_
If sec 0 + tan 0 = P then the value of 3 is :
P +1
P21
IfE sec O +tan O = P a1 94 - 2
P +1
(A) cosec 0 (B) sin 6 () 1ano
secO
1+secO
secO
. 2 . 2 2
sin© 0 sin“ o cos 0
(A) (B) , C .
1-cos0 1-sin0 1-sin0

(D) 1 + sin®
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60.

61.

62.

63.

Value of (1 + tan® + sec0) (1 + cotd — cosec 0) is :

(1 +tan6 + sech) (1 + cotd — cosec 0) BT T AH B —

(A1 (B) -1 (€)2 (D) -4

If cos(a + B) = 0, then sin (o — B) can be reduced to :

af& cos(o+ P) =0, Al sin (o — p) BT foram S FHan & —

(A) cos B (B) cos 28 (C) sin a (D) sin 20
2
If cotO = i , then the value of H:ize is:
3 2-sin®0

(A)l (B) 2 (C) 8 (D) None of these

5 5 5

2
IR cotd = i,?ﬁ H:Lze BT A B —
J3 2-sin®0

1 2 3 . .

(A)g B) 3 (®) 3 (D) 378 & BIg Tl

If the elevation of the sun changed from 30° to 60°, then the difference between the length of shadows of a
pole 15m high, made at these two positions, is :

(A)7.5m (B) 15 m (C) 1043 m 0 2 m

B
I G BT I BT 30°W FEABR 60° B WY A1 39 & RARAT 7 g9 15 HieR Hd &I BRA1 DI <918

P 9 BT AN B

(A) 7.5 H1ex (B) 15 #ex (C) 1043 #ex (D) 1 ez
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64.

65.

If AC passes through the centre of the circle, then the area of the shaded region in the given figure is :

i AC g1 & &% 9 Toivdl 8, 1 fAU Y R § # wrifed &3 @1 & §

2
(C) 2a®(n-1) (D) a?(g _1j

The sum of an AP is given as 3n? + 2n, then its n" term can be written as:

IfT fHE AR & BT A 3n2 + 2n &, A1 SHABT nth Ug BIT:
(A) 6n2 + 1 (B) 6n - 1 (C)6n +1 (D) None of these (@13 2))
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PART - VI (MENTAL ABILITY)

- VI ([AFfe 3rgan)

66.

67.

68.

In the multiplication grid given below, the input factors (in the first row & the first column) are all missing
and only some of the products within the table have been given. What is the value of A+ B + C + D + E?

A R W gon s W, $YT BRS (Ul Ul SR UBd derd H) 9 M € R difeid & AR Bo
WY E A A+B+C+D+E &AM o1 B ?

X
A (10 20
15| B |40
18 C |60
20 D |24
56 E
(A) 132 (B) 145 (C) 161 (D) 178
Find the next number in the series :
SE | el F&AT A -
14, 28, 20 40, 32, 64, ...
(A) 52 (B) 56 (C) 96 (D) 128

What number comes inside the circle?

M & ISR Y39 g & W IR B Gl IR ?

(A)5 (B) 6

®
0.0,
®

00000

00000

00000
@8@

o
©

(D) 12
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69. Which one number can be placed at the sign of interrogation ?

e s WH W B9 A 91 IR ?

G @) @ 8 ) (9
© @) #)
©, O @

(A)5 (B) 6

(C)8 (D)9
70. Food : ? : : Petrol : Engine.
(A) Bread (B) Vegetable (C) Stomach (D) Digestion
e ? ;o ﬁ;ﬁ?«[ ;3o
(A) S (B) &=t (C) e (D) ur=d
71. Light : Heavy : : ? : Far
(A) Water (B) Near (C) Phone (D) Cotton
BAD] : HNT - : 2 N
(A) = (B) Ut (C) 1= (D) U

Directions : (In Questions Nos. 72 to 74) select the related world/letters/numbers from the given alternatives.

e : (uea w729 74) |, Ry W el § 9 99ffa e / 31eRi / 9= B gen |

72. Detective : Informer : : Reporter : ?

(A) Source (B) Editorial (C) News (D) Essay

Y@TeR : @R : : FrITGar : ?

(A) g7 (B) AHITGDHIY (C) HHr=R (D) o
73. 0.16:0.0016::1.02: ?

(A) 10.20 (B) 0.102 (C) 0.0102 (D) 1.020
74. ACEG : NPRT : : ADGJ : ?

(A) NRTX (B) ORVX (C) NQSU (D) NQTW
75. How many triangles are in the given figure?

& TS @i H Ho fhaw e € 2

(A) 6 (B) 8 (C) 10 (D) 11
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22,

29.
36.
43.
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ANSWER KEY

(B) 2 (A) 3 (A) A (C) 5. (C) 6 A T (B)
(A) o D 10. (A) 1. (B 12. () 13. (C) 14 (A
B 16 (C) 17. (A) 18 (B 19. (B) 20. (A) 21. (A
(C) 23. (B 24 (B 25. (B 26. (C) 27. (C) 28. (C)
(c) 8. (A 3. (B 32 (A 33 () 34 (A 3. (D
® 37. (B 38 (A 3. O 4. (C) 4. (A 4. (C
B 4. (B 4. (B) 4. (A 47. (D) 48 (C) 4. (A
A) 5. (A 5. (B 53 (A) 54 (C) 5. (B 56. (C)
(D) 58 (B 59. (A) 60. () 61. (B) 62 (C) 63 (O
D) 6. (B 66 (C) 67. (B 68 (B 69. (D) 70. (C)
B 72 (A 73. (C) 74 (D) 75. (C)

71.
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